| 1 | A7Wub PR result

EBI4 (X1 /2R B~

HEIE K 4 = 2 100m time km/h & 4z
1 PO B PN 1 DNS
2 KE BX PN 2 6”54 12799 55.43 15
3 2 Ik PN 2 6726 12763 57.01 13
4 & &th PN 3 6"16 12732 58.44 11
5 e BifE PN 2 613 12729 58.58 10
6 KRN R 3PN 3 5"92 12705 59.75 7
7 EIIRER S PN 2 6"04 12710 59.50 8
8 BH 23 PN 3 616 12722 58.92 9
9 m —F PN 3 5"69 11757 62.23 5
10 JKH #R PN 3 5"72 11757 62.23 4
11 PR FIAER 3PN 3 5"92 11792 60.40 6
12 T By PN 3 5"61 11726 63.94 1
13 K&t Bt PN 2 5"60 11736 63.38 3
14 TR BE PN 3 563 11727 63.89 2
15 B ER PN 1 6799 13764 52.79 17
16 B 2 3PN 1 7736 14763 4921 18
17 HwE ZH 3PN 1 6”60 13714 54.79 16
18 AH R PN 1 6"38 12761 57.10 12
19 =8 = PN 1 6”32 12783 56.12 14

KAPISHIIEERFE D 100mD 2 A L TRE LT (JCFIR R FE66%-2)

| 2 | %F27yuh(200TT) result
HEE| K £ B A 100m time km/h =g va
8 A BER EERLT 1 6782 13752 53.25 1




| 6 | ATk 1/23R8 start list
BHBEE (KRN BFE(I3-4GLREEA

$H X7 | K £ & S time JIE {52
1 1 8| TWEL =EXE 3 127028 1
p2sge SkH B8R mKE 3 2
) 1 H| MBHE mKXE 3 117961 2
pamgs| k& HEt  mXHE 2 1
X 2#B WMBHE JTIL—N\FETIZEUBKRET S
[12—1 | RFUUb 3-4fmspmEs start list |
#H o | K 4 B B B |1th time |2th time |3th time| JIE {iL
1 1 3| kEB#R mBEXE 3 2
pang R BE AKX 3 | 117658 | 127225 1
[12—2| 27Uk ®Bs start list |
8 X5 | K £ r B H4E |1th time|2th time|3th time| B {i
1 1 3| FWEL mEXE 3 117630 | 127409 1
pawaRy k5t Et BIKEE 2 2




| 3 | F—h-R7)ob NEBLRTE result |
NO | H/B A& K £ 24| 400m split | 800m split time JE 43z
T EEs 3
1 | H | EXEEA KHEH #R 3 28796 55736 121”39 1
KE B 2
| 4 | 7-h-n-3a2-b IERIRTE result |
NO | H/B e K £ 2| 1km split | 2km split | 3km split time Bz
RAIA 55 3
a5 BiE 2 o o - o
1 | H | mXEB I ) 113”57 2'23"08 334726 44527 2
= EH 2
g HE&E 3
Hk —% 3
2 A 113711 2'20"01 3'28722 4’35732 1
mAR BH B} 3
e FIAER 3




| 7 | 1km84LMAT7I REB(ETIERR] result
# |S/Fl| BE 4 B 224 | 200m | 400m | 600m | 800m | time | km/h | JEfL
1 |B/H| #BFO PN 1 DNS

|'H/B|

o |B/H| W &S EpN 1 | 207660 | 367399 | 537422 | 1111°868| 1297581 [ 37.97 | 17

PEZABY RN EAR maAlE 1 | 207941 | 367659 | 537077 | 108"936] 1'257910 | 38.26 | 16

3 |B/H| AH#EE PN 1 | 19769134689 | 497657 [1057216( 17207910 | 40.40 | 14

PEZBY 5E - EAE 1 | 187971337179 | 49709 | 106%664| 1247736 | 39.40 | 15

4 |B/H| 1= =8 EIpN] 1 | 187554 | 337053 | 477787 |1037257| 11197428 [ 4323 | 12

PHBY k= Bk Eap NG 2 | 207182 | 347622 | 49"582 | 1047540| 1207205 | 43.88 13

5 |B/H| T 23 PN 3 | 187069 | 317577 | 457270 [ 587945 | 17127999 [ 43.91 6
PEZBY EEE uE PN 2 DSQ

6 |B/H| XAIM FBHR ®EXE 3 | 187411317939 | 457441 | 597570 | 1137827 | 44.30 7

PEBY k@ BR PN G 3 | 197319327125 | 457002 | 587752 | 11117452 | 47.67 2

7 |B/H| BEH 3 N 3 | 177984317330 | 447620 | 587678 | 17127990 | 43.96 5

PH/BY T —F PN 3 | 177218297783 | 437190 | 567946 | 1117459 | 47.63 3

g |B/H| BEH FIKER FIKE 3 | 177968317307 [ 447903 [ 597227 | 1'137894 | 43.93 8

e wiE = PN 2 | 187433317592 | 457413 | 597635 | 1157026 | 47.83 | 10

9 |B/H| T & EpN 3 | 197268337101 | 477006 |1017651] 116”059 | 47.00 | 11

PEBY =1 £ PN G 2 | 187760317767 | 457467 [ 597435 | 17147326 | 46.60 9

10 |B/H| W2 &E PN 3 | 177143297584 | 427086 | 557234 | 1708546 | 49.01 1

[EABY kAT Kt [P 2 | 187382317365 | 447662 | 587290 | 1'12"286 | 48.09 4

| 5 | 500ms4Lk5471 M result
HEIE| S/F| B & B 224 | 100m | 200m | 300m | 400m | time | km/h | lEfL

7 |H/1C| BT BN BEXF 1 [12726(19799 2772934738 41785 |42.01 1




| 8 | TA) TR resulkt
A L3R (L1 -6 RLREE, 4-6LIXT- 1260 REEA~
148
NO |HC | B 4% [ = FE time [:Liva
1 B | BB %& I KFH 3 115777 1
2 2 | #&|E HKRE PN 3 4
3 7 | kHE &R [N 3 3
4 F | Bl £ PN 2 5
5 #H | KAIN #R [N 3 2
6 | BE | 2B & [N 2 6
2%H
NO |HC | B % [ == FE time IEHZ
1 B | K& Ff PN 2 127"59 1
2 2 | FWEY [N 3 3
3 | HH®—F PN 3 2
4 # | &@ 23 [N 3 4
5 & | G BiE PN 2 5
6 |BR| TiE &H [N 3 6




L 10 | #quy 7-126R5E8 start list
NO |HC | & 4 B ok time [1:{iva
1 B | B A [N 3 127645 1
2 | B | =& PN 2 4
3| K| B RIARE 2 6
4 | & | BB By PN 3 2
5 | & | BB BIE RIARE 2 3
6 | BE | @ EH [N 3 5
L 11 | 71Uy 1-efires start list
NO | HC | & 4 I == FE time {3
1 B | W8 %E PN 3 2
2 | B | XAMNER PN 3 5
3 | & | &@E#R PN 3 6
4 | & | k5t 54 PN 2 3
5 | & | mwm—% PN 3 4
6 | BE | TwEY [N 3 127234 1

X kEER EBE

#5%% (JCFRAIG6-2 RS B—L—2~ADIAH)




| 9 | 2kmAVT A9 AT 1T - IN=1—b BRIRTE result |
8 S/F KE 4% T B PE 1km time km/h NE {3z
4 H Ax BEH BRLF 1 1247034 | 2477441 | 42.00 1

AN
=

#



13 | 3km4UF 19 17 270N —Ya—t IBEIRE result

#H | SIFIE % i = | Tkm 2km time km/h | BT
4 e st B B RS 2 | 1157666 | 2307073 | 3427617 | 47.33 | 1
;| B/ |mm us HARE 3 | 1147332 | 2277254 | 3427730 | 4708 | 2
o | B/H |mEmmAm  mxmE 3 | 1147064 | 2297538 | 3437575 | 47.21 3
s | B/H [xAm R mxE 3 | 1147194 | 2287054 | 3437674 | 47.01 4
o [N = —5 R RS 3 | 1157637 | 2297782 | 3457837 | 4628 | 5
; HEE B3l AARE 3 | 1147860 | 2297654 | 3467250 [ 47.26 | 6
s e 2z B RS 2 | 1177332 | 2327003 | 3487200 | 46.94 | 7
4 | B/v BB BE HARE 2 | 1147238 | 2327781 | 3527789 [ 4502 | 8
T KIS 2 | 1197882 | 2367531 | 3537235 [ 4589 | o
s | B/ | W Ems R RS 3 | 1177867 | 238184 | 3557282 [ 4541 | 10
» | B/m |km #m R RS 3 | 1167619 | 2357470 | 3567633 | 44.57 | 11
, e = B B PE 3 | 1207479 | 2407757 | 4017716 | 4352 | 12
0 | B/ e e B RS 1 | r267172 | 2537189 | 4167987 | 4062 | 13
1o (NN km ik HARE 2 | 1277975 | 2547748 | 4207090 | 41.40 | 14
o |wweM Am s RS 1 | 1147580 | 2'537069 | 4247948 | 39.49 | 15
s | B/H W g2 R RS 1 | r287425 | 2567504 | 4257726 | 39.67 | 16
o | B/H |BE R RS 1 | ro47740 | 2507148 | 4337574 | 3875 | 17
o | i = AARE 1 | 1297131 | 3007529 | 433655 | 38.63 | 18
1 | B/H |HFDO & RN 1 DNS




| 14 | smdisiE 2B result

10 o9 8 7 6 5 4 3 2 1 NGt
NO|HC| K & F & i-H.H-H-H.H-H-H.H-H-H.;;;EE time 2_5
3 | & [ —% EXE 3 B|(HiB|H:B O| 1 |5227692| 1
1| B [WMBHE ®BKE 3 B[H Ol 2 2
1| B |kE Bt BB 2 B[H:B|H (O K] 3
5 | # ([EH 23 ®EXE 3 B[H Ol 4 4
2 | B |KARN #R AAE 3 B[H O]9 5
6 (BR(XE#HRE FEXE 3 [B]|H O|11 6
7 |87 (BB MAR BEAR 3 5 7
10 | BRE[FE mAkE 2 6 8
9 |FE|RIBEE BKE 2 7 9
12 | BE(=)NE#  BXE 2 8 10
8 |BF|SWm B FEAME 3 10 11
4 | & |TWE} FEXE 3 B|H @) DNF




| 15 | RP59F Rk (6km) result
NO | HC ! K 4 17 == FHE time JE s
2 2 2 KN % PN 3 8'197880 1
3 7 3 HH—% g 3 2
5 H 5 HHR} 3PN 3 3
11| 8% | 11 k& K PN 2 4
7 | BaFk| 7 #HA HAS PN 3 5
10 | 2% 10 =2 PN 2 6
9 | FE| 9 HIBERE PN 2 7
12 | BF | 12 B E# g 2 8
6 |BHE| 6 sKkHEHER 3PN 3 9
1 =i 1 B HE 3PN 3 DNF
4 & 4 Tl EEs PN 3 DNF
8 |BE| 8 EHHEH PN 3 DNF




| 16 | RAU-L—R REE result |

[EEl 40/ EIE|Ss| 1] 2[3|4]|5[6]|7]8
BEEfE 16km 1 |5m|2(2]5|11[2]11]2]|7
2 [3g 115 |11]2([5]2]|11|5 SEtime
3 |28 [5]3|2[5]|11[7]5]2 992'37"698
4 [1m]611]7]7[10[5[9]11
5
X5 FEE| 5|10]|15|20|25(30(35|40| & | % | G | IE
NO[HC|K % BT B ¥ HERA|35|30[25|20[15]|10( 5 H|R[& |6
2 | B\ XARW H& BmXRE 3 5151213 3154 323 | 1
5 | (B8 BI) EXE 3 315121312 241 2 | 2
11| 8% k5 Bt EXRE 2 31512153 24| 4 | 3
7 | &% |EEE WA mAXE 3 111 2 10 141 1] 4
9 |%%E|EE BIE FXRE 2 1 1155
10 |B& (29 & PN 2 1 1616
12 |R%| =) EH KB 2 717
3| FK|amk—F ®mKE 3 2 2 | DNF| DNF
6 |BR|xH #E FXE 3 1 1 | DNF| DNF
1|8 |8 %E ™K 3 DNS [DNS
4 | F|TwEL @EXE 3 DNS | DNS
8 |u%E|EM &t EXARE 3 DNS [DNS




R1 | BEAO—FL—R(BF) R result
NO K 4 B A time IIE4sE
2 KAA 5= N 3 1° 49'14 1
5 HH B3t EPNE] 3 1° 5335 2
3 oM —F N 3 1° 54’10 3
7 B FIKER RN 3 1° 5411 4
9 ats BiE PN 2 1° 54’11 5
11 K& Bt XS 2 1° 54’12 6
17 RO B N 1 1° 54’15 7
19 138 fEE PN 1 1° 57'41 8
12 =)l £ A XME 2 1° 57°42 9
18 B e RN 1 1° 57°43 10
6 skH E1R PN 3 DNF
10 EE I XS 2 DNF
13 XE BX N 2 DNF
15 HE =5 PN 1 DNF
16 E A XME 1 DNF
20 P E B 1 DNF
21 X8 L B 1 DNF
1 T =& XA 3 DNS
4 T 2B N 3 DNS
8 &Him Bth PN 3 DNS
14 AR ESE A XME 1 DNS
R1 BEAO0—FL—XR(ZF) R result
23 AT ED | BEExF | 1 32'20 IE




